7.4. Examples and Consequences.

Proposition 4. \Suppose the market model Section 7.1 is complete andﬁi@ﬂ‘ee, and let£ be the unique risk neutral
measure. I is a P martingale, then X, must mwealfh of a self financing portfolio. T

Remark 7.15—We’ve already seen in Lemma 7.5 that if a (not necessarily unique) risk neutral measure exists, then the discounted
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wealth of any self financing portfolio must be a martingale under it.

Remark 7.16. All pricing results/formulae we derived for the Binomial model that only relied on the analog of Proposition 7.14 will
hold in complete arbitrage free markets.
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Question 7.17. Consider a market consisting of a bank with interest rate r, and two stocks with price processes S', S?. At each
time step we flip two _independent coins. The price of the i-th stock (i € {1,2}) changes by factor u;, or d; depending on whether the
i-th coin is heads or tails. When is this market arbitrage free? When is this market complete?
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